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Date: o Keep trying
Silver — 11, 12s
Ix1M=_ 1x12=__
2xM=__ 2x12=___
3xN"=__ 3x12=___
L x11=__ b x12=___
5x1 = 5x12=___
6x11=__ 6x12=___
/x1M=__ /x12=___
8x1=__ 8x12=__
Qx11=__ 9x12=__
M0OxN=____ 10x12=___
Mxn=____ Mx12=_____
12x11 = 12x12 =




Silver — 11, 12s

Ix11=___ 3x12=__ 8x12=__
M0xM=____ 12x12=____ Lbx12=__
Mx=____ bx12=___ 8xM=__
2xM=__ Mx12=____ 0x12=____
9x11=__ 8x12=___ 0xM=___
3x1M=___ 0x12=__ Qx12=__
8x1M=__ 5x12=__ 3x12=__
Lx11=__ Qx12=___ L x11=__
/xM=__ 2x11=____ 2x12=___
5x11=__ 2x12=__ Ix11=___
6x11=___ 9x11=___ 5x12=___
2x11=____ Ix12=____ 6x1M=__
6x12=____ /x1=__ 2xN=__
1x12=____ 2x11=____ /x12=__
2x12=__ 6x12=__ Ix11=__
/x12 = SxNM=__ 8x12=____




